

# Electronic Journal of Qualitative Theory of Differential Equations

2015, No. **52**, 1–16; doi:10.14232/ejqtde.2015.1.52 http://www.math.u-szeged.hu/ejqtde/

# Existence and Ulam-Hyers stability of ODEs involving two Caputo fractional derivatives

# Shan Peng and JinRong Wang<sup>™</sup>

College of Science, Department of Mathematics, Guizhou University, Guiyang, Guizhou 550025, P.R. China

Received 24 May 2015, appeared 19 August 2015 Communicated by Michal Fečkan

**Abstract.** In this paper, we study existence of solutions to a Cauchy problem for non-linear ordinary differential equations involving two Caputo fractional derivatives. The existence and uniqueness of solutions are obtained by using monotonicity, continuity and explicit estimation of Mittag-Leffler functions via fixed point theorems. Further, we present Ulam–Hyers stability results by using direct analysis methods. Finally, examples are given to illustrate our theoretical results.

**Keywords:** ODEs, Caputo fractional derivative, Mittag-Leffler function, existence, Ulam–Hyers stability.

2010 Mathematics Subject Classification: 26A33, 33E12, 34A12.

#### 1 Introduction

In the past decades, fractional differential equations have been proved to be valuable tools to describe nonlinear oscillations of earthquakes, seepage flow in porous media and fluid dynamic traffic model. There are many monographs on this interesting topic [3,9,13,16,17, 19,23,26,27,33] and a large amount of papers on quality analysis for nonlocal problems, impulsive problems, Ulam–Hyers stability and stable manifolds problems as well as control problems [1,2,4–8,10,14,15,20–22,25,28–30,32,34]) and the references therein.

In [17, Chapter 5], Kilbas et al. studied the solvability of a Cauchy problem for nonlinear ordinary differential equations involving two Caputo fractional derivatives of the type:  ${}^cD_t^{\alpha}x(t) - \lambda^cD_t^{\beta}x(t) = f(t)$ , where  $\lambda \in \mathbb{R}$ ,  ${}^cD_t^{\alpha}$  and  ${}^cD_t^{\beta}$  denote the Caputo fractional derivatives of order  $\alpha$ ,  $\beta$  with the lower limit zero, respectively (see Definition 2.1). Further, Wang and Li [30] discussed  $\mathbb{E}_{\alpha}$ -Ulam-Hyers stability of fractional differential equations of the type:  ${}^cD_t^{\alpha}x(t) = \lambda x(t) + f(t, x(t))$  on finite time interval via the properties of Mittag-Leffler functions  $\mathbb{E}_{\alpha}(z) := \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(k\alpha+1)}$  and  $\mathbb{E}_{\alpha,\alpha}(z) := \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k+\alpha)}$  for  $z \leq 0$  (see [29, Lemma 2]) and a singular Gronwall type integral inequality (see [31, Theorem 1]). Very recently, Cong et al. [6] explored some asymptotic behavior on  $\mathbb{E}_{\alpha}(z)$  and  $\mathbb{E}_{\alpha,\alpha}(z)$  for z > 0 by using [11, Theorem 2.3], which inspired the reader to study further estimation and asymptotic behavior on  $\mathbb{E}_{\alpha,\beta}(z)$ .

<sup>&</sup>lt;sup>™</sup>Corresponding author. Email: sci.jrwang@gzu.edu.cn

However, the development of existence and Ulam's type stability theory for nonlinear ordinary differential equations involving two Caputo fractional derivatives is still in its infancy. One of the reasons for this fact might be that asymptotic property of  $\mathbb{E}_{\alpha,\beta}(z)$  have not been explored completely.

Motivated by [6,17,30], we consider the following Cauchy problem for nonlinear differential equations involving two Caputo fractional derivatives:

$$\begin{cases} {}^{c}D_{t}^{\alpha}x(t) - \lambda^{c}D_{t}^{\beta}x(t) = f(t, x(t)), & 0 < \beta < \alpha \le 1, & t \in J := [0, 1], \\ x(0) = x_{0}, & x_{0} \in \mathbb{R}, \end{cases}$$
(1.1)

where  $\lambda \in \mathbb{R} \setminus \{0\}$ ,  $f: J \times \mathbb{R} \to \mathbb{R}$  is a continuous function. By [17, p. 324, (5.3.75)–(5.3.76)], the solution  $x \in C(J, \mathbb{R})$  of (1.1) is given by

$$x(t) = \left[ \mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta} \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta}) \right] x_0$$

$$+ \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) f(s,x(s)) ds,$$
(1.2)

with the two parameter Mittag-Leffler function  $\mathbb{E}_{\alpha,\beta}(z) := \sum_{k=0}^{\infty} \frac{z^k}{\Gamma(\alpha k + \beta)}$ .

Before we deal with existence of solutions and Ulam–Hyers stability, the key step is to discuss the elementary properties of Mittag-Leffler functions. By virtue of integrable expansion of Mittag-Leffler functions in [6], we give monotonicity, continuity and explicit estimation of Mittag-Leffler functions  $\mathbb{E}_{\alpha}(z)$  and  $\mathbb{E}_{\alpha,\beta}(z)$  for z>0 and z<0, which extend the previous results in [29, Lemma 2] and [6, Lemma 3].

The first purpose of this paper is to discuss existence of solutions to the equation (1.1) by using fixed point theorems. The second purpose of this paper is to present that the equation (1.1) is Ulam–Hyers stable on the time interval J. When we discuss existence theorems and Ulam–Hyers stability theorems, the new derived properties of Mittag-Leffler functions  $\mathbb{E}_{\alpha}(z)$  and  $\mathbb{E}_{\alpha,\beta}(z)$  for z>0 and z<0 are widely used in this paper. Meanwhile, these properties will help the researcher to study other fractional ODEs with constant coefficients.

The rest of this paper is organized as follows. In Section 2, we recall some notations and give some useful properties of the two-parameter Mittag-Leffler function. In Section 3, we apply fixed point theorems to derive the existence of solutions. In Section 4, Ulam–Hyers stability theorems are presented. Examples are given in Section 5 to demonstrate the application of our main results.

## 2 Preliminaries

Let  $C(J,\mathbb{R})$  be the Banach space of all continuous functions from J into  $\mathbb{R}$  with the norm  $||z||_{\infty} = \sup\{|z(t)| : t \in J\}.$ 

**Definition 2.1** ([17]). The Caputo derivative of order  $\gamma$  for a function  $f:[0,\infty)\to\mathbb{R}$  can be written as

$$^{c}D_{t}^{\gamma}f(t) = {^{L}D_{t}^{\gamma}}\bigg(f(t) - \sum_{k=0}^{n-1} \frac{t^{k}}{k!}f^{(k)}(0)\bigg), \qquad t > 0, \ n-1 < \gamma < n,$$

where  ${}^LD_t^{\gamma}f$  denotes the Riemann–Liouville derivative of order  $\gamma$  with the lower limit zero for a function f, which given by

$${}^LD_t^{\gamma}f(t) = \frac{1}{\Gamma(n-\gamma)}\frac{d^n}{dt^n}\int_0^t \frac{f(s)}{(t-s)^{\gamma+1-n}}\,ds, \qquad t>0, \ n-1<\gamma< n.$$

We recall the famous integrable expansion of two differential parameters Mittag-Leffler function.

**Lemma 2.2** (see [11, Theorem 2.3]). Let  $\alpha \in (0,1]$ ,  $\beta \in \mathbb{R}$  and  $\beta < 1 + \alpha$  be arbitrary. Then the following statements hold.

(i) For all z > 0, we have

$$\mathbb{E}_{\alpha,\beta}(z) = \frac{1}{\alpha} z^{\frac{1-\beta}{\alpha}} \exp(z^{\frac{1}{\alpha}}) + \int_0^\infty K(r,z) \, dr,$$

where

$$K(r,z) = \frac{1}{\pi\alpha} r^{\frac{1-\beta}{\alpha}} \exp(-r^{\frac{1}{\alpha}}) \frac{r \sin(\pi(1-\beta)) - z \sin(\pi(1-\beta+\alpha))}{r^2 - 2rz \cos(\pi\alpha) + z^2}.$$

(ii) For all z < 0, we have

$$\mathbb{E}_{\alpha,\beta}(z) = \int_0^\infty K(r,z) \, dr.$$

For more details on expression on the Mittag-Leffler functions, one can see [12]. Next, we need monotonicity and continuity results for Mittag-Leffler functions.

**Lemma 2.3 ([24,** Lemma 2.3]). Let  $\alpha \in (0,1]$ ,  $\beta \in \mathbb{R}$  and  $\beta < 1 + \alpha$  be arbitrary. The functions  $\mathbb{E}_{\alpha}(\cdot)$  and  $\mathbb{E}_{\alpha,\beta}(\cdot)$  are nonnegative and have the following properties.

(i) For all  $\lambda > 0$  and  $t_1, t_2 \in J$  and  $t_1 \leq t_2$ ,

$$\mathbb{E}_{\alpha}(t_1^{\alpha}\lambda) \leq \mathbb{E}_{\alpha}(t_2^{\alpha}\lambda), \qquad \mathbb{E}_{\alpha,\beta}(t_1^{\alpha}\lambda) \leq \mathbb{E}_{\alpha,\beta}(t_2^{\alpha}\lambda).$$

(ii) For all  $\lambda > 0$  and  $t_1, t_2 \in I$ ,

$$\mathbb{E}_{\alpha}(t_1^{\alpha}\lambda) \to \mathbb{E}_{\alpha}(t_2^{\alpha}\lambda)$$
 as  $t_1 \to t_2$ ,

$$\mathbb{E}_{\alpha,\beta}(t_1^{\alpha}\lambda) \to \mathbb{E}_{\alpha,\beta}(t_2^{\alpha}\lambda)$$
 as  $t_1 \to t_2$ .

**Remark 2.4.** The symmetrical results for  $\mathbb{E}_{\alpha}(z)$  and  $\mathbb{E}_{\alpha,\beta}(z)$  for  $z \leq 0$  have been reported by Wang et al. [29, Lemma 2].

Next, we give explicit estimation of Mittag-Leffler functions  $\mathbb{E}_{\alpha}(z)$  and  $\mathbb{E}_{\alpha,\beta}(z)$  for z > 0, which extend the previous results in [6, Lemma 3].

**Lemma 2.5.** Let  $\lambda > 0$  be arbitrary. For any  $\alpha \in (0,1]$ ,  $\beta \in \mathbb{R}$  and  $\beta < 1 + \alpha$ . We define

$$m(\alpha, \beta, \lambda) = \max\{m_1(\alpha, \beta, \lambda), m_2(\alpha, \beta, \lambda)\},\$$

where

$$m_{1}(\alpha,\beta,\lambda) = \frac{\left|\sin(\pi\beta)\right| \int_{0}^{\infty} r^{\frac{1-\beta+\alpha}{\alpha}} \exp(-r^{\frac{1}{\alpha}}) dr}{\sin^{2}(\pi\alpha)\pi\alpha\lambda^{2}},$$

$$m_{2}(\alpha,\beta,\lambda) = \frac{\left|\sin(\pi(\beta-\alpha))\right| \int_{0}^{\infty} r^{\frac{1-\beta}{\alpha}} \exp(-r^{\frac{1}{\alpha}}) dr}{\sin^{2}(\pi\alpha)\pi\alpha\lambda}.$$

(i) For all t > 0, we have

$$\left| t^{\beta-1} \mathbb{E}_{\alpha,\beta}(\lambda t^{\alpha}) - \frac{1}{\alpha} \lambda^{\frac{1-\beta}{\alpha}} \exp(\lambda^{\frac{1}{\alpha}} t) \right| \leq \frac{m_1(\alpha,\beta,\lambda)}{t^{2\alpha-\beta+1}} + \frac{m_2(\alpha,\beta,\lambda)}{t^{\alpha-\beta+1}}$$

$$\leq m(\alpha,\beta,\lambda) \left( \frac{1}{t^{2\alpha-\beta+1}} + \frac{1}{t^{\alpha-\beta+1}} \right).$$

In particular,

$$\left|\mathbb{E}_{\alpha}(\lambda t^{\alpha}) - \frac{1}{\alpha} \exp(\lambda^{\frac{1}{\alpha}} t)\right| \leq \frac{m(\alpha, 1, \lambda)}{t^{\alpha}}.$$

(ii) For all t > 0, we have

$$\left| t^{\beta-1} \mathbb{E}_{\alpha,\beta}(-\lambda t^{\alpha}) \right| \leq \frac{m_1(\alpha,\beta,\lambda)}{t^{2\alpha-\beta+1}} + \frac{m_2(\alpha,\beta,\lambda)}{t^{\alpha-\beta+1}}$$

$$\leq m(\alpha,\beta,\lambda) \left( \frac{1}{t^{2\alpha-\beta+1}} + \frac{1}{t^{\alpha-\beta+1}} \right).$$

In particular,

$$\left|\mathbb{E}_{\alpha}(-\lambda t^{\alpha})\right| \leq \frac{m(\alpha,1,\lambda)}{t^{\alpha}}.$$

*Proof.* (*i*) By virtue of Lemma 2.2 (i), we have

$$\begin{aligned} \left| t^{\beta-1} \mathbb{E}_{\alpha,\beta}(\lambda t^{\alpha}) - \frac{1}{\alpha} \lambda^{\frac{1-\beta}{\alpha}} \exp(\lambda^{\frac{1}{\alpha}} t) \right| \\ &= \left| t^{\beta-1} \int_0^{\infty} \frac{1}{\pi \alpha} r^{\frac{1-\beta}{\alpha}} \exp(-r^{\frac{1}{\alpha}}) \frac{r \sin(\pi (1-\beta)) - (\lambda t^{\alpha}) \sin(\pi (1-\beta+\alpha))}{r^2 - 2r(\lambda t^{\alpha}) \cos(\pi \alpha) + (\lambda t^{\alpha})^2} dr \right|. \end{aligned}$$

It follows the fact

$$r^2 - 2r(\lambda t^{\alpha})\cos(\pi \alpha) + (\lambda t^{\alpha})^2 \ge \sin^2(\pi \alpha)\lambda^2 t^{2\alpha}$$

we obtain

$$\begin{split} \left| t^{\beta-1} \mathbb{E}_{\alpha,\beta}(\lambda t^{\alpha}) - \frac{1}{\alpha} \lambda^{\frac{1-\beta}{\alpha}} \exp(\lambda^{\frac{1}{\alpha}} t) \right| \\ & \leq \left| \frac{t^{\beta-1}}{\pi \alpha \sin^{2}(\pi \alpha) \lambda^{2} t^{2\alpha}} \int_{0}^{\infty} r^{\frac{1-\beta}{\alpha}} \exp(-r^{\frac{1}{\alpha}}) (r \sin(\beta \pi) - \lambda t^{\alpha} \sin(\pi (\beta - \alpha))) dr \right| \\ & \leq \frac{1}{t^{2\alpha-\beta+1}} \frac{\left| \sin(\pi \beta) \right| \int_{0}^{\infty} r^{\frac{1-\beta+\alpha}{\alpha}} \exp(-r^{\frac{1}{\alpha}}) dr}{\sin^{2}(\pi \alpha) \pi \alpha \lambda^{2}} \\ & + \frac{1}{t^{\alpha-\beta+1}} \frac{\left| \sin(\pi (\beta - \alpha)) \right| \int_{0}^{\infty} r^{\frac{1-\beta}{\alpha}} \exp(-r^{\frac{1}{\alpha}}) dr}{\sin^{2}(\pi \alpha) \pi \alpha \lambda} \\ & = \frac{m_{1}(\alpha, \beta, \lambda)}{t^{2\alpha-\beta+1}} + \frac{m_{2}(\alpha, \beta, \lambda)}{t^{\alpha-\beta+1}} \\ & \leq m(\alpha, \beta, \lambda) \left( \frac{1}{t^{2\alpha-\beta+1}} + \frac{1}{t^{\alpha-\beta+1}} \right), \end{split}$$

which proves the part (i).

In particular,

$$\left|\mathbb{E}_{\alpha}(\lambda t^{\alpha}) - \frac{1}{\alpha} \exp(\lambda^{\frac{1}{\alpha}} t)\right| \leq \frac{m_2(\alpha, 1, \lambda)}{t^{\alpha}} \leq \frac{m(\alpha, 1, \lambda)}{t^{\alpha}}.$$

(ii) By virtue of Lemma 2.2 (ii) for the case z < 0, we obtain that

$$\begin{split} \left| t^{\beta-1} \mathbb{E}_{\alpha,\beta}(-\lambda t^{\alpha}) \right| \\ & \leq \left| \frac{t^{\beta-1}}{\pi \alpha \sin^{2}(\pi \alpha) \lambda^{2} t^{2\alpha}} \int_{0}^{\infty} r^{\frac{1-\beta}{\alpha}} \exp(-r^{\frac{1}{\alpha}}) (r \sin(\beta \pi) + \lambda t^{\alpha} \sin(\pi(\beta - \alpha))) \, dr \right| \\ & \leq \frac{1}{t^{2\alpha-\beta+1}} \frac{\left| \sin(\pi \beta) \right| \int_{0}^{\infty} r^{\frac{1-\beta+\alpha}{\alpha}} \exp(-r^{\frac{1}{\alpha}}) \, dr}{\sin^{2}(\pi \alpha) \pi \alpha \lambda^{2}} \\ & \quad + \frac{1}{t^{\alpha-\beta+1}} \frac{\left| \sin(\pi(\beta - \alpha)) \right| \int_{0}^{\infty} r^{\frac{1-\beta}{\alpha}} \exp(-r^{\frac{1}{\alpha}}) \, dr}{\sin^{2}(\pi \alpha) \pi \alpha \lambda} \\ & = \frac{m_{1}(\alpha, \beta, \lambda)}{t^{2\alpha-\beta+1}} + \frac{m_{2}(\alpha, \beta, \lambda)}{t^{\alpha-\beta+1}} \\ & \leq m(\alpha, \beta, \lambda) \left( \frac{1}{t^{2\alpha-\beta+1}} + \frac{1}{t^{\alpha-\beta+1}} \right). \end{split}$$

In particular,

$$\left|\mathbb{E}_{\alpha}(-\lambda t^{\alpha})\right| \leq \frac{m_2(\alpha,1,\lambda)}{t^{\alpha}} \leq \frac{m(\alpha,1,\lambda)}{t^{\alpha}}.$$

The proof is completed.

To end this section, we recall the famous Krasnoselskii–Zabreiko fixed point theorem.

**Lemma 2.6** ([18]). Let  $(X, \| \cdot \|)$  be a Banach space, and  $K \colon X \to X$  be a completely continuous operator. Assume that  $L \colon X \to X$  is a bounded linear operator such that 1 is not an eigenvalue of L and

$$\lim_{\|x\|\to\infty}\frac{\|Kx-Lx\|}{\|x\|}=0.$$

Then K has a fixed point in X.

#### 3 Existence results

#### 3.1 Case of $\lambda > 0$

We introduce the following assumptions:

- $(H_1)$   $f: J \times \mathbb{R} \to \mathbb{R}$  is continuous.
- ( $H_2$ ) There exists a constant L > 0 such that

$$|f(t,x)-f(t,y)| \le L|x-y|$$
, for each  $t \in J$ , and all  $x,y \in \mathbb{R}$ .

( $H_3$ ) Let  $0 < L\rho < 1$  where

$$\rho = \left(\frac{(3\beta - \alpha)m(\alpha - \beta, \alpha, \lambda)}{\beta(2\beta - \alpha)} + \frac{1}{\alpha - \beta}\lambda^{\frac{-\alpha}{\alpha - \beta}}\exp\left(\lambda^{\frac{1}{\alpha - \beta}}\right)\right) > 0$$

and  $\alpha < 2\beta$ , and  $m(\alpha - \beta, \alpha, \lambda)$  is defined in (2.5).

Define  $M = \max\{|f(t,0)| : t \in J\}$  and  $B_r = \{x \in C(J,\mathbb{R}) : ||x||_{\infty} \le r\}$ , where

$$r \ge \frac{\rho M + \mathbb{E}_{\alpha-\beta}(\lambda)|x_0| + \lambda \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda)|x_0|}{1 - L\rho}.$$
(3.1)

**Theorem 3.1.** Assume that  $(H_1)$ – $(H_3)$  are satisfied. Then the equation (1.1) has a unique solution.

*Proof.* Define an operator  $Q: B_r \to C(J, \mathbb{R})$  by

$$(Qx)(t) = \left[ \mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta} \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta}) \right] x_0$$

$$+ \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) f(s,x(s)) ds.$$
(3.2)

Note that Q is well defined on  $C(I, \mathbb{R})$  due to  $(H_1)$ .

Step 1. We prove that  $Q(B_r) \subset B_r$ .

Now, take  $t \in J$  and  $x \in B_r$ . By using  $(H_2)$  via Lemma 2.3 and Lemma 2.5 (i), we obtain

$$\begin{split} &|(Qx)(t)|\\ &\leq \left|\left[\mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta}\mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta})\right]x_0\right|\\ &+ \left|\int_0^t (t-s)^{\alpha-1}\mathbb{E}_{\alpha-\beta,\alpha}(\lambda(t-s)^{\alpha-\beta})f(s,x(s))\,ds\right|\\ &\leq \int_0^t \left|(t-s)^{\alpha-1}\mathbb{E}_{\alpha-\beta,\alpha}(\lambda(t-s)^{\alpha-\beta})f(s,x(s))\right|\,ds + \mathbb{E}_{\alpha-\beta}(\lambda)|x_0| + \lambda\mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda)|x_0|\\ &\leq \left[\int_0^t \left|(t-s)^{\alpha-1}\mathbb{E}_{\alpha-\beta,\alpha}(\lambda(t-s)^{\alpha-\beta}) - \frac{1}{\alpha-\beta}\lambda^{\frac{1-\alpha}{\alpha-\beta}}\exp(\lambda^{\frac{1}{\alpha-\beta}}(t-s))\right|\right.\\ & \left. \times \left|f(s,x(s)) - f(s,0) + f(s,0)\right|\,ds\\ &+ \int_0^t \frac{1}{\alpha-\beta}\lambda^{\frac{1-\alpha}{\alpha-\beta}}\exp(\lambda^{\frac{1}{\alpha-\beta}}(t-s))|f(s,x(s)) - f(s,0) + f(s,0)|\,ds\right]\\ &+ \mathbb{E}_{\alpha-\beta}(\lambda)|x_0| + \lambda\mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda)|x_0|\\ &\leq \left[\int_0^t m(\alpha-\beta,\alpha,\lambda)\left(\frac{1}{(t-s)^{\alpha-2\beta+1}} + \frac{1}{(t-s)^{-\beta+1}}\right)[|f(s,x(s)) - f(s,0)| + |f(s,0)|]\,ds\right.\\ &+ \int_0^t \frac{1}{\alpha-\beta}\lambda^{\frac{1-\alpha}{\alpha-\beta}}\exp(\lambda^{\frac{1}{\alpha-\beta}}(t-s))[|f(s,x(s)) - f(s,0)| + |f(s,0)|]\,ds\right]\\ &+ \mathbb{E}_{\alpha-\beta}(\lambda)|x_0| + \lambda\mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda)|x_0|\\ &\leq \rho[L\|x\|_\infty + M] + \mathbb{E}_{\alpha-\beta}(\lambda)|x_0| + \lambda\mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda)|x_0|\\ &\leq \rho[Lr + M] + \mathbb{E}_{\alpha-\beta}(\lambda)|x_0| + \lambda\mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda)|x_0|\\ &< r. \end{split}$$

Step 2. We check that *Q* is a contraction mapping.

For  $x, y \in B_r$  and for each  $t \in I$ , by using Lemma 2.3 and Lemma 2.5 (i), we obtain

$$\begin{aligned} |(Qx)(t) - (Qy)(t)| \\ &\leq \int_0^t \left| (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda(t-s)^{\alpha-\beta}) \right| \left| f(s,x(s)) - f(s,y(s)) \right| ds \end{aligned}$$

$$\leq L \int_{0}^{t} \left| (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha} (\lambda(t-s)^{\alpha-\beta}) \right| ds \|x-y\|_{\infty}$$

$$\leq L \left[ \int_{0}^{t} \left| (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha} (\lambda(t-s)^{\alpha-\beta}) - \frac{1}{\alpha-\beta} \lambda^{\frac{1-\alpha}{\alpha-\beta}} \exp(\lambda^{\frac{1}{\alpha-\beta}} (t-s)) \right| ds + \int_{0}^{t} \frac{1}{\alpha-\beta} \lambda^{\frac{1-\alpha}{\alpha-\beta}} \exp(\lambda^{\frac{1}{\alpha-\beta}} (t-s)) ds \right] \|x-y\|_{\infty}$$

$$\leq L\rho \|x-y\|_{\infty},$$

which implies that  $||Qx - Qy||_{\infty} \le L\rho ||x - y||_{\infty}$ .

From  $(H_3)$ , one can obtain the conclusion of theorem by the contraction mapping principle. The proof is completed.

Next, we apply Krasnoselskii's fixed point theorem to derive the existence result.

( $H_4$ ) There exists a nondecreasing function  $\omega \in C([0,\infty),\mathbb{R}^+)$  such that  $|f(t,x)| \leq \omega(\|x\|_{\infty})$  for all  $(t,x) \in J \times \mathbb{R}$  and  $0 < \rho \lim_{r \to \infty} \inf \frac{\omega(r)}{r} < 1$ .

**Theorem 3.2.** Assume that  $(H_1)$  and  $(H_4)$  are satisfied. Then the equation (1.1) has at least one solution.

*Proof.* For some r' > 0, define two operators G and H on  $B_{r'}$  given by

$$(Gx)(t) = \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda(t-s)^{\alpha-\beta}) f(s,x(s)) ds,$$
  

$$(Hx)(t) = \left[ \mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta} \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta}) \right] x_0.$$

We show that  $(G + H)(B_{r'}) \subset B_{r'}$ . If it is not true, then for each r' > 0, there would exist  $x_{r'} \in B_{r'}$  and  $t_{r'} \in J$  such that  $|(Gx_{r'})(t_{r'}) + (Hx_{r'})(t_{r'})| > r'$ . By repeating the same process of Step 1 of Theorem 3.1, we have

$$r' < |(Gx_{r'})(t_{r'}) + (Hx_{r'})(t_{r'})|$$

$$\leq \mathbb{E}_{\alpha-\beta}(\lambda)|x_0| + \lambda \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda)|x_0| + \int_0^t |(t-s)^{\alpha-1}\mathbb{E}_{\alpha-\beta,\alpha}(\lambda(t-s)^{\alpha-\beta})|\omega(r')ds$$

$$\leq \mathbb{E}_{\alpha-\beta}(\lambda)|x_0| + \lambda \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda)|x_0| + \rho\omega(r')$$

Dividing both sides by r' and taking the lower limit as  $r' \to +\infty$ , we obtain  $1 \le \rho \lim_{r' \to \infty} \inf \frac{\omega(r')}{r'}$ , which contradicts with  $(H_4)$ . Thus, for some positive number r',  $(G+H)(B_{r'}) \subset B_{r'}$ .

We observe that H is a contraction with the constant zero and the continuity of f implies that the operator G is continuous. Moreover, G is uniformly bounded on  $B_{r'}$ . Now we need to prove the compactness of the operator G. Define  $f_{\max} = \sup\{|f(t,x)| : t \in J, x \in B_{r'}\}$ . For any  $t_2 < t_1$ , by using Lemma 2.3 (ii), we have

$$\begin{aligned} &|(Gx)(t_{2}) - (Gx)(t_{1})| \\ &\leq \left| \int_{0}^{t_{2}} \left[ (t_{2} - s)^{\alpha - 1} - (t_{1} - s)^{\alpha - 1} \right] \mathbb{E}_{\alpha - \beta, \alpha} (\lambda(t_{2} - s)^{\alpha - \beta}) f(s, x(s)) \, ds \right| \\ &+ \left| \int_{0}^{t_{2}} (t_{1} - s)^{\alpha - 1} \left[ \mathbb{E}_{\alpha - \beta, \alpha} (\lambda(t_{2} - s)^{\alpha - \beta}) - \mathbb{E}_{\alpha - \beta, \alpha} (\lambda(t_{1} - s)^{\alpha - \beta}) \right] f(s, x(s)) \, ds \right| \end{aligned}$$

$$\begin{split} &+ \left| \int_{t_2}^{t_1} (t_1 - s)^{\alpha - 1} \mathbb{E}_{\alpha - \beta, \alpha} (\lambda(t_1 - s)^{\alpha - \beta}) f(s, x(s)) \, ds \right| \\ &\leq \mathbb{E}_{\alpha - \beta, \alpha} (\lambda) f_{\max} \left| \int_0^{t_2} \left[ (t_2 - s)^{\alpha - 1} - (t_1 - s)^{\alpha - 1} \right] ds \right| \\ &+ f_{\max} \int_0^{t_2} (t_2 - s)^{\alpha - 1} \left| \mathbb{E}_{\alpha - \beta, \alpha} (\lambda(t_2 - s)^{\alpha - \beta}) - \mathbb{E}_{\alpha - \beta, \alpha} (\lambda(t_1 - s)^{\alpha - \beta}) \right| ds \\ &+ \mathbb{E}_{\alpha - \beta, \alpha} (\lambda) f_{\max} \left| \int_{t_2}^{t_1} (t_1 - s)^{\alpha - 1} \, ds \right| \\ &\leq \frac{3(t_1 - t_2)^{\alpha}}{\alpha} \mathbb{E}_{\alpha - \beta, \alpha} (\lambda) f_{\max} + \frac{f_{\max} t_2^{\alpha}}{\alpha} O(|t_1 - t_2|), \end{split}$$

which tends to zero as  $t_2 \rightarrow t_1$ .

This yields that G is equicontinuous. So G is relatively compact. Hence, G is compact. At last, we can conclude that G + H is a condensing map on  $B_{r'}$ . By using the Krasnoselskii fixed point theorem, the problem has at least one solution. The proof is completed.

Next, we apply the Krasnoselskii–Zabreiko fixed point theorem to derive the existence result.

( $H_5$ ) The function  $f(t,0) \neq 0$  for some  $t \in J$  and

$$\lim_{\|x\|_{\infty}\to\infty}\frac{f(t,x)}{x}=k(t).$$

$$(H_6) \ k_{\sup} := \sup_{t \in I} |k(t)| < \frac{1}{\rho}.$$

**Theorem 3.3.** Assume that  $(H_1)$ ,  $(H_5)$  and  $(H_6)$  are satisfied. Then the equation (1.1) has at least one solution.

*Proof.* Choose  $r \ge \rho f_{\max} + \mathbb{E}_{\alpha-\beta}(\lambda)|x_0| + \lambda \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda)|x_0|$ . Then we consider the operator Q defined in (3.1) again. By repeating the similar computations of Theorems 3.1 and 4.4, we know that the operator  $Q: B_r \to B_r$  is continuous and Q(x) is uniformly bounded and equicontinuous for all  $x \in B_r$ . Consequently Q is relatively compact.

Next we consider the problem (1.2) as a linear problem by setting f(t, x(t)) = k(t)x(t). Define the operator  $L: B_r \to B_r$  by

$$(Lx)(t) = \left[ \mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta} \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta}) \right] x_0$$
$$+ \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) k(s) x(s) \, ds.$$

Now, we claim that

$$\sup_{t \in J} |Lx(t)| \le k_{\sup} \rho ||x||_{\infty} + \left[ \mathbb{E}_{\alpha-\beta}(\lambda) + \lambda \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda) \right] |x_0| < ||x||_{\infty}. \tag{3.3}$$

If not, one can derive the fact

$$k_{\sup} \rho = \lim_{\|x\|_{\infty} \to \infty} \frac{k_{\sup} \rho \|x\|_{\infty} + [\mathbb{E}_{\alpha-\beta}(\lambda) + \lambda \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda)]|x_0|}{\|x\|_{\infty}} \ge 1,$$

which contradicts with  $(H_6)$ . Therefore, (3.3) implies that 1 is not an eigenvalue of the operator L.

Finally we will show that  $\frac{\|Qx-Lx\|_{\infty}}{\|x\|_{\infty}}$  vanishes as  $\|x\|_{\infty} \to \infty$ . In fact,

$$|(Qx)(t) - (Lx)(t)| = \left| \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda(t-s)^{\alpha-\beta}) f(s,x(s)) \, ds - \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda(t-s)^{\alpha-\beta}) k(s) x(s) \, ds \right|$$

$$\leq \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda(t-s)^{\alpha-\beta}) \left| \frac{f(s,x(s))}{x(s)} - k(s) \right| \, ds \|x\|_{\infty}.$$

This means that

$$\frac{\|Qx - Lx\|_{\infty}}{\|x\|_{\infty}} \le \int_0^t (t - s)^{\alpha - 1} \mathbb{E}_{\alpha - \beta, \alpha} (\lambda (t - s)^{\alpha - \beta}) \left| \frac{f(s, x(s))}{x(s)} - k(s) \right| ds.$$

Then, we can get

$$\lim_{\|x\|_{\infty}\to\infty}\frac{\|Qx-Lx\|_{\infty}}{\|x\|_{\infty}}=0$$

due to  $(H_5)$ .

Consequently, the proof is completed by virtue of Lemma 2.6.

## 3.2 Symmetrical results for $\lambda < 0$

In this section, we give symmetrical existence results for Section 3.

( $H_7$ )  $0 < L\varrho < 1$  where  $\varrho = \frac{(3\beta - \alpha)m(\alpha - \beta, \alpha, -\lambda)}{\beta(2\beta - \alpha)} > 0$  and  $\alpha < 2\beta$  and  $m(\alpha - \beta, \alpha, -\lambda)$  is defined in ( $H_2$ ).

Recall the above definition of M and  $B_r$ , where

$$r \ge \frac{\varrho M + |x_0| - \frac{\lambda}{\Gamma(\alpha - \beta + 1)} |x_0|}{1 - L\varrho}.$$
(3.4)

Now we are ready to give the following result.

**Theorem 3.4.** Assume that  $(H_1)$ ,  $(H_2)$ ,  $(H_7)$  are satisfied. Then the equation (1.1) has a unique solution.

*Proof.* Like in Theorem 3.1, consider  $Q: B_r \to C(J, \mathbb{R})$  again, where r is chosen in (3.4). We prove that  $Q(B_r) \subset B_r$ . Now, take  $t \in J$  and  $x \in B_r$ . By using  $(H_2)$  via Lemma 2.5 (ii), we obtain

$$\begin{split} |(Qx)(t)| &\leq \int_{0}^{t} m(\alpha - \beta, \alpha, -\lambda) \left( \frac{1}{(t-s)^{\alpha - 2\beta + 1}} + \frac{1}{(t-s)^{-\beta + 1}} \right) [L|x(s)| + |f(s,0)|] \, ds \\ &+ |x_{0}| - \frac{\lambda}{\Gamma(\alpha - \beta + 1)} |x_{0}| \\ &\leq \varrho[L||x||_{\infty} + M] + |x_{0}| - \frac{\lambda}{\Gamma(\alpha - \beta + 1)} |x_{0}| \\ &\leq \varrho[Lr + M] + |x_{0}| - \frac{\lambda}{\Gamma(\alpha - \beta + 1)} |x_{0}| \\ &\leq r. \end{split}$$

We check that Q is a contraction mapping. For  $x, y \in B_r$  and for each  $t \in J$ . By using Lemma 2.5 (ii), we obtain

$$|(Qx)(t) - (Qy)(t)| \le L \int_0^t m(\alpha - \beta, \alpha, -\lambda) \left( \frac{1}{(t-s)^{\alpha - 2\beta + 1}} + \frac{1}{(t-s)^{-\beta + 1}} \right) ds ||x - y||_{\infty}$$

$$\le L\varrho ||x - y||_{\infty},$$

which implies that  $||Qx - Qy||_{\infty} \le L\varrho ||x - y||_{\infty}$ .

By  $(H_7)$  and the contraction mapping principle, one can complete the proof.

( $H_8$ ) There exists a nondecreasing function  $\omega \in C([0,\infty),\mathbb{R}^+)$  such that  $|f(t,x)| \leq \omega(\|x\|_{\infty})$  for all  $(t,x) \in J \times \mathbb{R}$  and  $0 < \varrho \lim_{r \to \infty} \inf \frac{\omega(r)}{r} < 1$ .

**Theorem 3.5.** Assume that  $(H_1)$  and  $(H_8)$  are satisfied. Then the equation (1.1) has at least one solution.

*Proof.* We consider the operators G and H in Theorem 3.2 again. We use proof by contradiction to show that  $(G+H)(B_{r'}) \subset B_{r'}$  for some positive number r'. By repeating the same process of Step 1 of Theorem 3.4, we have  $r' < |(Gx_{r'})(t_{r'}) + (Hx_{r'})(t_{r'})| \le |x_0| - \frac{\lambda}{\Gamma(\alpha - \beta + 1)}|x_0| + \varrho \varpi(r')$ , which implies that  $1 \le \varrho \lim_{r' \to \infty} \inf \frac{\varpi(r')}{r'}$ , contradicts  $(H_8)$ . To prove the compactness of the operator G, we only need to check equicontinuity, for any  $t_2 < t_1$ , by using Remark 2.4 ([29, Lemma 2 (ii)]), we have  $|(Gx)(t_2) - (Gx)(t_1)| \le \frac{3(t_1 - t_2)^{\alpha}}{\Gamma(\alpha + 1)} f_{\max} + \frac{f_{\max} t_2^{\alpha}}{\alpha} O(|t_1 - t_2|)$ , which tends to zero as  $t_2 \to t_1$ .

The rest of the proof is the same as that of Theorem 3.2. So we omit it here.  $\Box$ 

$$(H_9)$$
  $k_{\sup} := \sup_{t \in J} |k(t)| < \frac{1}{\varrho}$ , where  $k(t)$  defined in  $(H_5)$ .

**Theorem 3.6.** Assume that  $(H_1)$ ,  $(H_5)$  and  $(H_9)$  are satisfied. Then the equation (1.1) has at least one solution.

*Proof.* Choose  $r \ge \varrho f_{\max} + |x_0| - \frac{\lambda}{\Gamma(\alpha - \beta + 1)} |x_0|$ . Similar to the proof of Theorem 3.3, one can obtain the result.

## 4 Ulam–Hyers stability results

#### 4.1 Case of $\lambda > 0$

In this part, we will discuss Ulam–Hyers stability of the equation (1.1) for the case  $\lambda > 0$  on the time interval I.

Let  $\epsilon > 0$ . Consider the equation (1.1) and below inequality

$$|{}^{c}D_{t}^{\alpha}y(t) - \lambda^{c}D_{t}^{\beta}y(t) - f(t, y(t))| \le \epsilon, \qquad t \in J.$$

$$(4.1)$$

**Definition 4.1.** The equation (1.1) is Ulam–Hyers stable if there exists c > 0 such that for each  $\epsilon > 0$  and for each solution  $y \in C(J, \mathbb{R})$  of the inequality (4.1) there exists a solution  $x \in C(J, \mathbb{R})$  of the equation (1.1) with

$$|y(t) - x(t)| \le c\epsilon, \quad t \in J.$$

**Remark 4.2.** A function  $y \in C(J, \mathbb{R})$  is a solution of the inequality (4.1) if and only if there exists a function  $g \in C(J, \mathbb{R})$  (which depend on y) such that (i)  $|g(t)| \le \epsilon$ ,  $t \in J$ , (ii)  ${}^cD_t^{\alpha}y(t) - \lambda^cD_t^{\beta}y(t) = f(t,y(t)) + g(t)$ ,  $t \in J$ .

Indeed, by Remark 4.2, the solution of the equation

$$^{c}D_{t}^{\alpha}y(t) - \lambda^{c}D_{t}^{\beta}y(t) = f(t,y(t)) + g(t), \qquad t \in J$$

can be formulated by

$$y(t) = \left[ \mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta} \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta}) \right] y(0)$$

$$+ \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) f(s,y(s)) ds$$

$$+ \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) g(s) ds, \qquad t \in J.$$

Then we have the following estimation.

**Remark 4.3.** Let  $y \in C(J, \mathbb{R})$  be a solution of the inequality (4.1). Then y is a solution of the following integral inequality

$$\begin{vmatrix} y(t) - \left[ \mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta} \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta}) \right] y(0) \\
- \int_{0}^{t} (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) f(s,y(s)) ds \end{vmatrix} \\
= \left| \int_{0}^{t} (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) g(s) ds \right| \\
\leq \int_{0}^{t} \left| (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) \right| \left| g(s) \right| ds \\
\leq \epsilon \int_{0}^{t} \left| (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) \right| ds \\
\leq \epsilon \rho, \qquad t \in J, \tag{4.2}$$

where we use Remark 4.2, Lemma 2.5 (i) and the fact

$$\int_0^t \left| (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha} (\lambda (t-s)^{\alpha-\beta}) \right| ds \le \rho;$$

 $\rho$  is defined in ( $H_3$ ).

Now we are ready to state our Ulam-Hyers stability result.

**Theorem 4.4.** Assume that  $(H_1)$ ,  $(H_2)$  and  $(H_3)$  are satisfied. Then the equation (1.1) is Ulam–Hyers stable on J.

*Proof.* Let  $y \in C(J, \mathbb{R})$  be a solution of the inequality (4.1). Denote by x the unique solution of the Cauchy problem

$$\begin{cases} {}^{c}D_{t}^{\alpha}x(t) - \lambda^{c}D_{t}^{\beta}x(t) = f(t, x(t)), & t \in J, \\ x(0) = y(0), & \end{cases}$$

that is,

$$x(t) = \left[ \mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta} \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta}) \right] y(0)$$
  
+ 
$$\int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) f(s,x(s)) ds.$$

By using Lemma 2.5 (i) and (4.2), we have

$$\begin{aligned} |y(t) - x(t)| &\leq \left| y(t) - \left[ \mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta} \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta}) \right] y(0) \\ &- \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) f(s,x(s)) \, ds \right| \\ &\leq \left| y(t) - \left[ \mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta} \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta}) \right] y(0) \\ &- \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) f(s,y(s)) \, ds \right| \\ &+ \left| \int_0^t (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) (f(s,y(s)) - f(s,x(s))) \, ds \right| \\ &\leq \epsilon \rho + L \int_0^t \left| (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) \right| \, ds \|x-y\|_{\infty} \\ &\leq \epsilon \rho + L \rho \|x-y\|_{\infty}, \end{aligned}$$

which yields that

$$||x - y||_{\infty} \le \epsilon \rho + L\rho ||x - y||_{\infty}.$$

Thus,

$$(1-L\rho)\|x-y\|_{\infty} \le \epsilon \rho.$$

As a result,

$$|y(t)-x(t)| \leq \frac{\epsilon \rho}{1-L\rho'}, \qquad t \in J.$$

The proof is completed.

#### 4.2 Symmetrical results for $\lambda < 0$

Next, we apply the same method to investigate Ulam–Hyers stability of the equation (1.1) for the case  $\lambda < 0$  on the time interval J.

By Remark 4.2 and Lemma 2.5 (ii), one can give a similar result according to Remark 4.3.

**Remark 4.5.** Let  $y \in C(J, \mathbb{R})$  be a solution of the inequality (4.1). Then y is a solution of the following integral inequality

$$\begin{vmatrix} y(t) - \left[ \mathbb{E}_{\alpha-\beta}(\lambda t^{\alpha-\beta}) - \lambda t^{\alpha-\beta} \mathbb{E}_{\alpha-\beta,\alpha-\beta+1}(\lambda t^{\alpha-\beta}) \right] y(0) \\
- \int_{0}^{t} (t-s)^{\alpha-1} \mathbb{E}_{\alpha-\beta,\alpha}(\lambda (t-s)^{\alpha-\beta}) f(s,y(s)) ds \end{vmatrix} \\
\leq \epsilon m(\alpha-\beta,\alpha,-\lambda) \int_{0}^{t} \left( \frac{1}{(t-s)^{\alpha-2\beta+1}} + \frac{1}{(t-s)^{-\beta+1}} \right) ds \\
\leq \epsilon \varrho, \qquad t \in J, \tag{4.3}$$

where  $\varrho$  is defined in  $(H_7)$ .

Next, we give our second Ulam-Hyers stability result.

**Theorem 4.6.** Assume that  $(H_1)$ ,  $(H_2)$  and  $(H_7)$  are satisfied. Then the equation (1.1) is Ulam–Hyers stable on J.

*Proof.* The process is very similar to the proof of Theorem 4.4. So we only present the main difference in the computation. By using Lemma 2.5 (ii) and (4.3), we have

$$|y(t) - x(t)| \le \epsilon \varrho + L \int_0^t \left| (t - s)^{\alpha - 1} \mathbb{E}_{\alpha - \beta, \alpha} (\lambda (t - s)^{\alpha - \beta}) \right| ds ||x - y||_{\infty}$$
  
 
$$\le \epsilon \varrho + L \varrho ||x - y||_{\infty}.$$

This yields that

$$|y(t)-x(t)| \leq \frac{\epsilon \varrho}{1-L\varrho'}, \qquad t \in J.$$

The proof is completed.

## 5 Examples

In this section, examples are given to illustrate our theoretical results.

**Example 5.1.** Let  $\alpha = \frac{1}{2}$ ,  $\beta = \frac{1}{3}$  and  $\lambda = 1$ . We consider

$$\begin{cases} {}^{c}D_{t}^{\frac{1}{2}}x(t) - {}^{c}D_{t}^{\frac{1}{3}}x(t) = \frac{x(t)+1}{t^{2}+c}, & t \in [0,1], \quad c > 0, \\ x(0) = 0. \end{cases}$$
 (5.1)

Define  $f(t, x(t)) = \frac{x(t)+1}{t^2+c}$  for  $t \in [0, 1]$ . Set  $M = L = \frac{1}{c}$ . Further, we choose  $c = 18m(\frac{1}{6}, \frac{1}{2}, 1) + 12 \exp(1)$ , where

$$m\left(\frac{1}{6},\frac{1}{2},1\right) = \max\left\{\frac{4}{\pi}\Gamma\left(\frac{5}{6}\right),\frac{2\sqrt{3}}{\pi}\Gamma\left(\frac{2}{3}\right)\right\}.$$

Now  $L\rho = L\left(9m(\frac{1}{6}, \frac{1}{2}, 1) + 6\exp(1)\right) = \frac{1}{2} < 1$ . Then  $(H_1)$ – $(H_3)$  are satisfied. By Theorem 3.1, the equation (5.1) has a unique solution.

**Example 5.2.** Let  $\alpha = \frac{1}{2}$ ,  $\beta = \frac{1}{3}$  and  $\lambda = 1$ . We consider

$$\begin{cases} {}^{c}D_{t}^{\frac{1}{2}}x(t) - {}^{c}D_{t}^{\frac{1}{3}}x(t) = \arctan\frac{|x(t)|}{1+|x(t)|}, & t \in [0,1], \\ x(0) = 0. \end{cases}$$
 (5.2)

Define  $f(t, x(t)) = \arctan \frac{|x(t)|}{1+|x(t)|}$  for  $t \in [0, 1]$ . Then,  $(H_1)$  holds and  $|f(t, x(t))| \le 1$ . Moreover,

$$\rho \lim_{r \to \infty} \inf \frac{1}{r} = \left(9m(\frac{1}{6}, \frac{1}{2}, 1) + 6\exp(1)\right) \lim_{r \to \infty} \inf \frac{1}{r} = 0 < 1,$$

where

$$m(\frac{1}{6},\frac{1}{2},1) = \max\left\{\frac{4}{\pi}\Gamma(\frac{5}{6}),\frac{2\sqrt{3}}{\pi}\Gamma(\frac{2}{3})\right\},\,$$

which implies  $(H_4)$  holds.

By Theorem 3.2, the equation (5.2) has at least one solution.

**Example 5.3.** Let  $\alpha = \frac{1}{2}$ ,  $\beta = \frac{1}{3}$  and  $\lambda = 1$ . We consider

$$\begin{cases} {}^{c}D_{t}^{\frac{1}{2}}x(t) - {}^{c}D_{t}^{\frac{1}{3}}x(t) = \frac{|x(t)|}{(t+1)^{2}+c}, & t \in [0,1], \quad c > 0, \\ x(0) = 0. \end{cases}$$
 (5.3)

Define  $f(t, x(t)) = \frac{|x(t)|}{(t+1)^2+c}$  for  $t \in [0, 1]$ . Then,  $(H_1)$  holds and  $\lim_{\|x\|_{\infty} \to \infty} \frac{f(t, x)}{x} = \frac{1}{(t+1)^2+c} := k(t)$ . Set  $k_{\sup} = \frac{1}{c}$ . Further, we choose  $c = 18m(\frac{1}{6}, \frac{1}{2}, 1) + 12 \exp(1)$ , where

$$m(\frac{1}{6}, \frac{1}{2}, 1) = \max\left\{\frac{4}{\pi}\Gamma(\frac{5}{6}), \frac{2\sqrt{3}}{\pi}\Gamma(\frac{2}{3})\right\}.$$

Then,  $k_{\sup}\rho = k_{\sup}\left(9m(\frac{1}{6},\frac{1}{2},1) + 6\exp(1)\right) = \frac{1}{2} < 1$ . Now  $(H_5)$ – $(H_6)$  are satisfied. By Theorem 3.3, the equation (5.3) has at least one solution.

**Example 5.4.** Let  $\alpha = \frac{1}{2}$ ,  $\beta = \frac{1}{3}$  and  $\lambda = 1$ . We consider

$$^{c}D_{t}^{\frac{1}{2}}x(t) - ^{c}D_{t}^{\frac{1}{3}}x(t) = \frac{1}{l}\sin x(t), \qquad t \in [0,1], \qquad l > 0,$$
 (5.4)

and the inequality

$$\left| {}^{c}D_{t}^{\frac{1}{2}}y(t) - {}^{c}D_{t}^{\frac{1}{3}}y(t) - \frac{1}{l}\sin y(t) \right| \le \varepsilon, \qquad t \in [0, 1].$$
 (5.5)

Let  $y \in C([0,1],\mathbb{R})$  be a solution of the inequality (5.5). Then there exists a function  $g(t) = \varepsilon e^{t-1} \in C([0,1],\mathbb{R})$  such that  $|g(t)| \le \varepsilon$ ,  $t \in [0,1]$ , and

$$^{c}D_{t}^{\frac{1}{2}}y(t) - ^{c}D_{t}^{\frac{1}{3}}y(t) = \frac{1}{I}\sin y(t) + g(t), \qquad t \in [0,1].$$

Define  $f(t, x(t)) = \frac{1}{l} \sin x(t)$  for  $t \in [0, 1]$  and set  $L = \frac{1}{l}$ . Then  $(H_1)$  and  $(H_2)$  hold. Moreover, we choose  $l = 18m(\frac{1}{6}, \frac{1}{2}, 1) + 12 \exp(1)$ , where

$$m(\frac{1}{6},\frac{1}{2},1) = \max\left\{\frac{4}{\pi}\Gamma(\frac{5}{6}),\frac{2\sqrt{3}}{\pi}\Gamma(\frac{2}{3})\right\}.$$

Then

$$0 < 1 - \frac{1}{7} \left( 9m(\frac{1}{6}, \frac{1}{2}, 1) + 6 \exp(1) \right) = \frac{1}{2} < 1,$$

which implies that  $(H_3)$  holds.

By Theorem 4.4, we have

$$|y(t) - x(t)| \le 2 \left(9m(\frac{1}{6}, \frac{1}{2}, 1) + 6\exp(1)\right)\epsilon, \quad t \in [0, 1].$$

Thus, the equation (5.4) is Ulam–Hyers stable on [0,1] with  $c=2\left(9m(\frac{1}{6},\frac{1}{2},1)+6\exp(1)\right)$ .

# Acknowledgements

The authors are grateful to the referees for their careful reading of the manuscript and valuable comments. The authors thank for the help from the editor too. This work is partially supported by the National Natural Science Foundation of China (11201091) and Outstanding Scientific and Technological Innovation Talent Award of Education Department of Guizhou Province ([2014]240).

## References

- [1] R. Agarwal, M. Benchohra, S. Hamani, A survey on existence results for boundary value problems of nonlinear fractional differential equations and inclusions, *Acta Appl. Math.* **109**(2010), 962–977. MR2596185; url
- [2] K. BALACHANDRAN, J. Y. PARK, Controllability of fractional integrodifferential systems in Banach spaces, *Nonlinear Anal. Hybrid Syst.* **3**(2009), 363–367. MR2561653; url
- [3] D. BALEANU, K. DIETHELM, E. SCALAS, J. J. TRUJILLO, Fractional calculus models and numerical methods, Series on Complexity, Nonlinearity and Chaos, Vol. 3, World Scientific Publishing Co., 2012. MR2894576; url
- [4] Z. Bai, H. Lü, Positive solutions for boundary value problem of nonlinear fractional differential equation, *J. Math. Anal. Appl.* **311**(2005), 495–505. MR2168413; url
- [5] A. Cernea, On a fractional differential inclusion with boundary condition, *Studia Univ. Babeș–Bolyai Math.* **55**(2010), 105–113. MR2764254
- [6] N. D. Cong, T. S. Doan, S. Siegmund, H. T. Tuan, On stable manifolds for planar fractional differential equations, *Appl. Math. Comput.* **226**(2014), 157–168. MR3144299; url
- [7] A. Debbouche, J. J. Nieto, Sobolev type fractional abstract evolution equations with nonlocal conditions and optimal multi-controls, *Appl. Math. Comput.* **245**(2014), 74–85. MR3260698; url
- [8] A. Debbouche, D. F. M. Torres, Approximate controllability of fractional nonlocal delay semilinear systems in Hilbert spaces, *Internat. J. Control* 86(2013), 1577–1585. MR3172421; url
- [9] K. Diethelm, The analysis of fractional differential equations, Springer, Berlin, 2010. MR2680847
- [10] M. Fečkan, Y. Zhou, J. Wang, On the concept and existence of solution for impulsive fractional differential equations, *Commun. Nonlinear Sci. Numer. Simul.* 17(2012), 3050– 3060. MR2880474; url
- [11] R. GORENFLO, J. LOUTCHKO, Y. LUCHKO, Computation of the Mittag-Leffler function  $E_{\alpha,\beta}(z)$  and its derivative, *Fract. Calc. Appl. Anal.* **5**(2002), 491–518. MR1967847
- [12] R. Gorenflo, A. A. Kilbas, F. Mainardi, S. V. Rogosin, Mittag-Leffler functions, related topics and applications, Springer, 2014. MR3244285
- [13] R. Hilfer, Applications of fractional calculus in physics, World Scientific, Singapore, 2000. MR1890106
- [14] F. Jiao, Y. Zhou, Existence of solution for a class of fractional boundary value problems via critical point theory, *Comp. Math. Appl.* **62**(2011), 1181–1199. MR2824707; url
- [15] F. Jiao, Y. Zhou, Existence results for fractional boundary value problem via critical point theory, *Internat. J. Bifur. Chaos Appl.* **22**(2012), 1–17. MR2926062; url
- [16] T. KACZOREK, K. ROGOWSKI, Fractional linear systems and electrical circuits, Studies in Systems, Decision and Control, Vol. 13, Springer, 2015. url

- [17] A. A. Kilbas, H. M. Srivastava, J. J. Trujillo, Theory and applications of fractional differential equations, Elsevier Science B.V., 2006. MR1851872
- [18] M. A. Krasnosel'skiĭ, P. P. Zabreĭko, Geometrical methods of nonlinear analysis, Grundlehren der Mathematischen Wissenschaften [Fundamental Principles of Mathematical Sciences], Vol. 263, Springer-Verlag, Berlin, 1984. MR736839
- [19] V. Lakshmikantham, S. Leela, J. V. Devi, *Theory of fractional dynamic systems*, Cambridge Scientific Publishers, 2009. MR1082551
- [20] Y. Li, Y. Chen, I. Podlubny, Stability of fractional-order nonlinear dynamic systems: Lyapunov direct method and generalized Mittag-Leffler stability, *Comput. Math. Appl.* **59**(2010), 1810–1821. MR2595955; url
- [21] S. Lim, M. Li, L. Teo, Langevin equation with two fractional orders, *Phys. Lett. A* **372**(2008), 6309–6320. MR2462401; url
- [22] J. Lu, Y. Chen, Stability and stabilization of fractional order linear systems with convex polytopic uncertainties, *Frac. Calc. Appl. Anal.* **16**(2013), 142–157. MR3016647; url
- [23] K. S. MILLER, B. Ross, An introduction to the fractional calculus and differential equations, John Wiley, 1993. MR1219954
- [24] S. Peng, J. Wang, Cauchy problem for nonlinear fractional differential equations with positive constant coefficient, *J. Appl. Math. Comput.*, (2015), published online. url
- [25] M. Pierri, D. O'Regan, On non-autonomous abstract nonlinear fractional differential equations, *Appl. Anal.* **94**(2015), 879–890. MR3318315; url
- [26] I. Podlubny, Fractional differential equations, Academic Press, 1999. MR1658022
- [27] V. E. Tarasov, Fractional dynamics: Application of fractional calculus to dynamics of particles, fields and media, Springer, HEP, 2011. MR2796453
- [28] C. Torres, Existence of solution for fractional Langevin equation: variational approach, *Electron. J. Qual. Theory Differ. Equ.* **2014**, No. 54, 1–14. MR3282973; url
- [29] J. Wang, M. Fečkan, Y. Zhou, Presentation of solutions of impulsive fractional Langevin equations and existence results, *Eur. Phys. J. Special Topics*. **222**(2013), 1857–1874. url
- [30] J. Wang, X. Li,  $\mathbb{E}_{\alpha}$ -Ulam type stability of fractional order ordinary differential equations, *J. Appl. Math. Comput.* **45**(2014), 449–459. MR3198703; url
- [31] H. YE, J. GAO, Y. DING, A generalized Gronwall inequality and its application to a fractional differential equation, *J. Math. Anal. Appl.* **328**(2007), 1075–1081. MR2290034; url
- [32] S. Zhang, H. Zhang, Fractional sub-equation method and its applications to nonlinear fractional PDEs, *Phys. Lett. A* **375**(2011), 1069–1073. MR2765013; url
- [33] Y. Zhou, Basic theory of fractional differential equations, World Scientific Publishing Co., Singapore, 2014. MR3287248
- [34] Y. Zhou, L. Zhang, X. H. Shen, Existence of mild solutions for fractional evolution equations, *J. Integral Equations Appl.* **25**(2013), 557–586. MR3161625; url